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MupuaHceke 7 24 33 - - - 7C33bn 71 0,7 1 25 28 265 4e | BCP | Bcuxanus 30
22 22 1.3 - - - 10C3 60 1 075 | 1 21 24 325 4¢ | BCP BCUXAHHS 30 o o
20 24 2 - - - 10C3+bn 66 0,7 1 21 24 310 4e BCP BCUXaAHHS 30 : ::
10 14 1.4 - - - 10C3+bn 65 0,65 I 24 28 340 4e BCP BCUXaHHA 35 § §
20 19 3,1 - - - 8C32bn 48 0.9 2 17 T6 215 Je T BCP BCUXAHHS 30 o :§_
5 42 1.9 - - - 10C3+bn 66 0.6 1 21 22 265 4e BCP BCUXAHHA 30 L ; ®
3 q 3 - - - T0Cs 735 06 [ To[ 30 17 13 3 BCP | scuxahus 23 3 < 5
5 T8 0.9 - - - T0C3 ST 108 1 T8 24 303 3 BCP | scuxanns 33 = S =
57 27 1.8 - - - 9C31bn+0c¢ 63 | 075 | la] 24 26 360 | 4e | BCP | Bcuxanus 25 §' z g
68 10 4.6 - - - 10C3+bn 52 1085 { 1 19 20 330 | 4e | BCP | 'Bcuxanus 30 E3
68 27 39 - - - 8C32bn+Bau 66 0,7 [ 23 24 300 4e BCP BCUXAHHA 30 - g
52 14 6.6 - - - 9Cs1bn 66 0,7 1 24 28 330 4¢ BCP BCUXAHHA 35 | E §_
55 24 1 - - - 10C3 66 | 0,75 1 22 24 350 4e | BCP | Bcuxauns 25 é =2
55 25 0,9 - - - 10C3 56 0,7 1 20 22 285 4e BCP BCHUXAHHSA 35 °
56 4 0.5 - - - 8C3(59)2C3(76)+bn 39 0,7 1 21 22 320 4e | BCP | Bcuxauns 30




Ml/lp‘laHCbKe 56 5 1,9 9Cz1bn 71 0,7 1 25 28 350 4e BCP BCUXAHHS 30
57 25 1,2 10C3+bn 49 0,85 | la 21 22 370 4e BCP BCHUXAHHA 35
56 27 1.3 10C3+bn 66 0,7 1 23 24 350 4e BCP BCUXAHHSA 30
42 34 1.3 10C3+bn+/13 60 0,7 la 23 24 350 4e BCP BCHUXAHHA 30
41 38 7.2 10C3+bn 63 0,7 1 22 26 320 3 BCP BCHXAHHSA 30
67 19 1.8 8C3(76)2C3(56)+bn 76 0,7 1 25 28 380 4e BCP BCUAXAHHSH 30
67 18 2.4 10C3 61 0,75 | la 26 28 410 4e BCP BCUXAHHSA 30
2
[HoramnsiHcbke| 93 20 11 8C31 1313+ Kunr+Bou 83 1 0,65 ] 1a| 31 36 290 4e | BCP | scuxauns 58 e
93 21 1.9 8C31 /3113 59 0,551 16 28 30 260 4e BCP BCUXAHHS 26 a
93 35 0,6 10C3 76 07 {1a] 27 32 440 4e | BCP | scuxauus 43 2
94 30 1.4 10C3(76)+C3(106) 76 0,7 1 25 32 380 4e BCP BCUXAHHA 114 5_._.’
95 1 0,5 10C3+/13+0c 81 0.6 1 26 40 350 3 BCP | scuxauus 106 i
95 2 1 10C3 81 0,55 | ta 28 32 350 3 BCP BCHUXAHHA 35 =z
95 3 ] 10C3+bn 66 0,7 1 24 26 380 3 BCP BCUXAHHSA 36 8.
95 8 25 10C3+bn 66 0,7 1 23 24 370 3 BCP BCUXAHHA 34 ;
95 13 1.3 10C3 81 0,6 1 27 32 365 4e BCP BCUXAHHA 36 =
95 24 1.5 10C3+/13 80 | 0557 1 27 36 330 | 4¢ | BCP | Bcuxanns 66 S
96 14 0,3 10C3+bn 4] 0,6 1 17 20 200 3 BCP BCUXAHHS 20 :f
96 18 0.7 10C3+/13 53 0.8 1 19 22 315 3 BCP BCUXAHHSA 60 :C:)
71 34 1.8 SC3(91)31310c1C3(71) 91 0,75 | 1a 31 40 455 4e BCP BCUXAHHSA 66 8
75 10 1.5 10C3+bn 50 0,851 16 24 28 455 3 BCP BCUX@HHA 107 [y
75 17 3.2 10C3(43)+bo+C3(61) 43 0,8 0} 21 22 350 3 BCP BCUXAHHS 40 ?‘
75 18 0.5 10C3(71)+3+bn+C3(48) 71 0,65 la 28 32 400 3 BCP BCUXAHHS 120 8
75 30 [ 10C3+113 66 | 0,65 1a] 25 26 390 4e BCP BCUXAHHS 70 o]
20 21 3.6 10C3 65 0,9 la 25 24 495 de BCP BCUXAHHSA 40 QI)
45 18 5,1 10C3+/13+bn 81 0.8 1 27 32 475 4e BCP BCUXAHHSA 115 3
33 23 1 10C3+bn+/13 76 0,7 la 28 32 430 3 BCP BCUXAHHSA 34 é
33 25 1.9 | 10C3+bn+]13 76 0.65 1 26 30 380 | 3 BCP BCUXAHHSA 39 =
33 31 1.8 9C31 ﬂ3+E[l 66 0,75 la 27 30 460 3 BCP BCUXAHHS 94 é_
57 36 3.3 10C3+/13+bn+3 91 0.65 | 27 36 400 3 BCP BCUXAHHA 99 g
74 13 1.1 10C3 66 0,7 10 28 30 485 3 BCP BCUXAHHA 17 o=
74 18 7.8 10C3 66 0.7 16 28 30 470 4e BCP BCUXAHHS 29 §
74 2 1.4 10C3+3+bn 81 065 1a]| 30 36 475 3 BCP BCUXAHHS 23 §
74 1 0,7 9Cs31I3+Kar 53 0,65 10 26 26 250 3 BCP BCUXAHHS 84 =%
43 32 1.7 10C3+/13 65 0,75 | 1o 28 28 490 3 BCP BCUXAHHSA 58
45 15 3.6 8C32bn+/13 66 0,751 ta| 25 28 330 4e BCP BCUXAHHS 30
75 22 1.1 10C3(71)y+Q3+bn+C3(48) 71 0,651 la 28 32 380 4e BCP BCUXAHHA 40
94 29 1.9 6C3(71)3Cw(6 1)t bn 71 0,75 ] 25 32 370 4e BCP BCUXAHHH 30
Konpsucbke 58 1 2 10C3 121 06 | 2 28 36 410 3¢ | BCP | Bcuxanus 35
69 14 2.1 10C3 65 0,7 } laf| 25 30 400 2 BCP BCHUXAHHS 30
69 15 2.5 10C3 59 0,7 | la| 24 28 380 2 BCP BCHXAHHS 25
69 21 0.4 10C3 65 0,7 1 24 30 360 2 BCP BCHXAHHS 25




KonpsiHceke 171 10 1,2 - - - 10C3+bn 70107 J1laf 26 28 400 | 4e | BCP | mcuxanns 70
172 1 1,4 - - - 10C3+bn 71 0,7 la] 28 32 480 4 BCP BCUXAHHSA 45
MupuaHcbke 4 5 [€)) 03] 03 10C3 75 0,6 | 16| 30 42 415 3 | CCP | Bcuxauus
5 5 2,2 (1) 0,3 0,3 10C3+Bay 76 0,7 16 30 36 480 3 CCp BCUXAHHSA 242
17 0,3 (1) 0,3 0,2 10C3+bnt+/3 63 0,6 1 21 24 270 3 CcCp BCUXAHHA ©
10 10 8,6 [§)) 0,2 0,2 9Cslbn 71 0,7 1 22 24 295 4e CCpP BCHUXAHHS 183 E
14 7,4 (N 0,1 0,1 10C3+bn 65 0,65 1 24 28 340 4e | CCP BCHXaHHS =
17 5 0,4 [3) 0,2 0,2 10C3 66 0,75 2 20 24 300 3e CCp BCUXAHHS 240 E
17 18 3,3 (1) 0,5 0,5 10C3+bn 57 0,7 1 21 24 305 3 CCP BCUXaHHA 380 3
" 13 0.3 10C3 b 96 | 0,6 [1a| 30 [ 44 [ 410 [ 3 | CCP | sonxanns 314 i
17 3,1 (1) 021 02 8/132C3+bn 1391 04 | 3 25 34 250 3 CCP | Bcuxannus S
19 6 1,5 ) 0,5 0,5 10C3+bn 57 0,9 la 22 24 415 4e CCp BCUXAHHYI 238 =
19 T3 7| @ |07 07 T0C3+bn 36 [ 07 [ 2| 16 ] 18 | 210 | 4e | CCP | sownxanns 196 &
21 20 1,2 (1) 0,4 0,4 10C3 61 0,7 la| 23 24 340 4e | CCP BCUXAHHA 217 2
27 23 0,5 (1) 0.4 0,4 10C3+bn 59 0,85 1 20 22 355 4e CCpP BCUXAHHA 266 E
20 1,2 [€)) 0,1 0,1 10C3 61 0,7 la 23 24 340 4e CCP BCHUXAHHA E
24 18 3,4 ) 0,2 0,2 7C33bn+0¢ 71 0,7 1 25 28 290 4e CcCcp BCHUXAHHA 375 3
24 26 8,9 ) 0,6 0,6 9C31bn 66 0,7 1 24 26 330 4e | CCP BCHXAaHHA 190 g
27 2,1 [ 0,2 0,2 SC35bn+/13+Bny 71 0,7 1 24 28 245 de CCp BCUXAHHA ‘&
25 5 16 [ 3 0,3 10C3 64 0,7 1 21 24 300 4e | CCP BCHXAHHA 213 _§
27 16 11 [} 0.8 0,8 10C3+ /13 76 0,7 16 32 36 520 3 CCp BCHUXaHHS 389 —O
34 19 2.8 [€)] 0,2 0,2 9C31bn 58 0,7 la] 24 28 310 4e | CCP BCUXaHHS 280 :
3 24 3 (hH 0.8 0,8 8C3(66)1bn1C3(90) 66 0,7 1 24 28 360 4e | CCP BCHUXaHHA 215 §
a4 8 7,7 )] 0,6 0,6 9C31bn+0c¢ 66 0,75 1 24 28 350 4e CcCcp BCUXAHHS 252 54
49 2 0,2 0,3 0,3 10C3 36 0,7 la| 22 24 320 4¢ | CCP BCUXAHHS 250 2
51 1 T () [02] 02 T0C3 B 68 07 [ T | 25 | 24 | 340 | 4e | CCP | serxanin 250 3
_ 17 1.4 ) 0,4 0,4 9C31bn+Bny 72 0,75 1 25 28 395 4e | CCP BCUXaHHS - §
32 18 0,5 (hH 0,1 0,1 10C3+13 62 0,7 la| 24 20 370 4e | CCP BCUXaHHS 324 §
53 2 5,1 N 1 1 10C3+bn 66 0,7 1 21 24 300 4e | CCP BCUXAHHS 271 t
54 3 0,7 ) 0,6 0,6 10C3 33 0,7 1 21 22 300 4e | CCP BCUXaHHS 383 s
54 13 10,5 (1) 0,7 0,7 10C3 66 0,7 1 21 22 300 4 CCp BCUXAHHSA 289 E
- 21 5 (D 0,7 0,7 10C3+bn 66 0,7 1 23 24 340 4e¢ | CCP BCUXaHHS o
36 57 3 () |02 02 T0C57Bn 8 T 07 [T 1 23 [ 25 [ 3350 | 4 | CCP | wommanin 218 &
61 4 0,3 0.4 0,4 10C3 71 0,7 1 22 24 320 de CCP | Bcuxanusg 370
HorawnsHebke| 106 14 3,7 (1) 0,5 0,5 10C3 58 0,8 | la| %5 26 430 3¢ | CCP | Bcuxauus 258
107 17 0,5 [}) 0,4 0.4 10C3 58 0,8 la 24 26 420 3 CCp RCUXAHHS 175
109 17 14,2 1)) 0,8 0,8 10C3x 60 0,751 la| 23 24 400 3e ccp BCHUXAHHS 291
108 9 0,4 (H 0,3 0,3 TC3(71)3C3(56) 71 0,6 la 28 3 400 3e CCp BCUXAHHY 463
107 8 6,2 ()] 0,8 0,8 10C3 66 0,651 16 28 28 390 4e CCp BCHUXaHHS 359
48 13 2,2 ) 1 1 10C3 59 0,9 1 22 24 395 4e CCp BCUXAHHS 372
109 30 8,9 [} 0.1 0,1 103K 60 0,75 | la 24 26 380 4e | CCP BCHUXaHHS 235
33 0,4 (N 0,1 0,1 10C3k 60 0,3 la 26 28 320 de CCP BCUXAHHS




[ToralHsHcbKe 64 22 1.5 ) 0,7 0,7 10C3+bn S8 0,8 16 26 30 465 4e | CCP BCHXaHHA 293
in 33 3,6 (1) 0,5 0,5 10C3x+bn+/13 38 0,85 | la 18 20 310 2 CCPp BCUXAHHA 276
111 22 13,5 [@)) 0,5 0,5 10C3 47 0,65 | 1a 21 22 290 2 CCP BCHUXAHHA 206
47 3 1,7 (D) 0,6 0,6 8C32Ji3+bn 63 0,751 2 20 22 220 4e CCP BCHUXAHHS 142
43 17 1.4 ) 0,6 0,6 9Cz1bpctl3 58 0,65 { 16 26 28 325 3 CCP BCUXAHHA 320
17 1,4 ) 0,7 0,7 9C31bpctI3 58 0,651 16 26 28 325 3 CCP BCUXAHHSA °
313(81)1 A311 33Bru2Oc+Ca+Knr+/] o
43 9 27 | (1 | ot o1 2031) 81 o065 2 25 | 32 | 250 | 3 | CCP | mcuxanms 297 2
27 3,3 ) 0,2 0,2 10C3+13 63 0,8 la 25 26 450 3 CCP BCHUXAHHSA 5:‘
61 7 3 ) 0,8 0,8 8C32bn+/13 63 0,8 la 27 30 420 4e CCP BCUXAHHA 382 g
49 15 2,5 (1) 06| 06 9C3lbn 41 1 0,85 | 16| 20 20 330 4e | CCP | Bcuxauns 323 T
29 21 00 [ () 109 09 T0C3 66 1075|161 28 | 30 | 495 | 4e | CCP | Bemxanms 138 =
30 03 1 () (01 01 3C2bnTap2/i 3108 [1a] 12 [ 14 | 75 | 4 | CCP | souxanns 138 Z
59 7 1 (1) 1 1 6C3(52)4C3(65) 52 0,75 | 1a 23 26 395 4e CCPp BCUXaHHA 332 Q‘
107 31 0,6 nH 0,2 0,2 10C3 66 0,7 la 25 26 380 3 CCP BCHUXAHHA 170 >
79 08 1 () 1051 05 | T0Cabnriap | 45 [ 085 [Ta| 19 | 22 | 315 | 3¢ | CCP | scuxanns =
32 0,2 10C3 71 0,3 16 30 36 405 3e CCPp BCUXAHHS 5
60 33 0,2 n 0,1 0,1 9C31 lup 57 0,9 16 27 26 505 3e CCP BCUXAHHS 287 =
28 0,9 [4)) 0,1 0,1 10C3+ 13 41 0,8 la 19 20 300 3e CCP BCUXaHHA g
31 1,5 nH 0,05{ 0,05 9C31bn+/3+1'3 66 0,7 16 28 30 450 3e CCP BCUXAHHA g_
34 0,7 ) 0,05{ 0,05 10C3+bn 71 0,7 16 29 32 480 3e CCP BCHUXAHHA g
81 34 1 )] 0,9 0,9 9C31bn+]13 66 0,7 1 24 26 360 3e CCp BCUXAHHSA 301 :O
81 35 2,9 [ 0,3 0,3 8C32bn+Bnu 66 0,7 1 24 26 345 3 CCp BCHUXAHHS 300 =
102 2 2,6 H 0,8 0,8 10C3+bn 66 0,85 | la 26 28 490 4e CCPp BCUXAUHA 270 E
3 2,4 (l) 0,1 0,1 10C3+bn 57 0,85 la 25 26 480 de CCPp BCHUXAHHS 8
108 10 0,2 (hH 0,1 0,1 10C3 71 - 1 26 30 300 de CCP BCUXaHHS 340 2
4 7 7,6 )] 0,2 0,2 8C3(76)2C3(86)+/13 76 0,751 2 22 26 350 4e CCpP BCUXaHH$ 320 3
75 18 0,5 10C3(7 1)+ 13+bn+C3(61)] 71 0,65 la| 28 32 400 3¢ | CCP BCUXAHHS 380 §
53
&
T
Tetepischke 7 33 3 H 0,3 0,3 10C3+bn 76 0,7 la{ 28 30 440 3 CCP | scuxauns 263 =
7 33 3 (2) 0,5 0,5 10Cs+bn 76 0,7 la 28 30 440 3 CCp BCUXAHHSA 214 8
10 17 2,6 [ 0,7 0,7 9C31bn 75 0,7 1 25 26 360 de CCP BCHXaHHS 351 -
7 21 3, 48] 0,7 0,7 10C3+/13 76 0,7 1 26 32 400 3e CCp BCUXAHHS 367
7 34 2,2 () 0.5 0,3 10C3+bn 76 0,6 1 25 28 330 3e Cccp BCUXaHH$ 278
” 26 0,8 hH 0,6 0,6 10C3+/13 58 0,7 la 23 20 340 3e CCP BCUXAHHS N
7 235 0,6 (1) 0.4 0.4 10C3 58 0,8 1 20 20 320 3e CcCp BCUXAHHA 376
63 22 10 (N 0,3 0,5 10C3+ /3 66 0,8 16 28 28 500 2 CCP BCUXAHHA 241
> 20 2,2 (N 0,4 0,4 10C3 55 0,7 la 24 26 360 2 CCP BCUXaHHS
- 7 8,7 (H 0,3 0,3 8C31bnl1Oc+H/13 61 0,9 la 3 24 420 4e CCP BCUXAHHS o
25 7 T o1 o G 1B bn T N A 3 5 | 2c | CCP | sormanns 362
14 3 hH 0,3 0,3 SC3(38)1bul[132C3(68) | 38 0,8 la 24 24 330 4e ccp BCUXAHHS en
10 13 1.5 M- 0.0 0.1 T0C3+bn 7 | 08 | 1] 25 76 220 | 4c | CCP | nomxanms 232
24 9 2,3 )] 0,5 0.5 9C31bu+/13 39 0,9 1 16 16 250 de CcCp BCUXAHHSI 210
13 14 11,5 H | | 8C31 /31 bn 66 0,7 la 25 26 3600 4e CcCp BCUXAHHSA 278




TTicKIBCbKE 10 3 () 104 04 9C31bn 34 | 09 [ 16] 27 76 550 | 4e | CCP | sonxanns -
12 7] 03 T0Cs+bn 35 (085 [ T | 16 | 16 | 250 | 40 | CCP | momanis 340 5
16 9 51 M |05 05 T0C3+bn 91 | 07 | 11 29 28 770 | 3¢ | CCP | sonxanns 330 E
17 8 5.3 [§)) 0,2 0,2 10C3 91 0,7 la|l 30 36 480 3¢ | ¢cP | Bcuxauns 280 =
3 10 2 [ (D) [06] 006 8C32bn 19 [ 0,85 | Ta | 21 22 345 | 4e | CCP | scuxanns 367 @
38 6 2,2 (D 0,9 0,9 10C3 71 08 [ 16| 31 36 610 4 CCP | Bcuxauns 362 =

2 1,7 M 1057[ 0.57 SC31bn 71 | 0,85 | 16| 29 32 525 | 3 | CCP | sonxannsa =

43 2 02 [ () [0.03] 0,03 S5n1Cs 66 [ 07 [1a| 25 | 26 | 250 | 3 | CCP | somxanin 450 s
62 7 0,2 10C3 76 0,7 la 29 32 460 4e CCP BCHUXAHH3 480 ;
92 18 2 [ () |03 03 9Cs1bn 71 | 0,7 | 1a| 26 28 360 | 4e | CCP | momxanms 213 =
127 6 3,9 H 0,97 0,97 10C3 66 0,7 16 29 32 460 4 CCP BCUXAHHS 334 E
5 2,3 (I) [0,03] 0,03 10C3+bn 66 | 0,75 | 16| 30 30 510 4 | ccp | Beuxanns =

128 10 7 | () [0,7] 0.7 10Cs 66 | 0,7 | 16| 30 32 480 | 4e | CCP | momxanms 256 5
12 9,2 ) 03] 03 10C3+/13 71 06 | 16| 31 36 430 4e | CCP | Bcuxamns e
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bniguanceke 85 10 6 [} 5,1 5,1 8C32bn+]13 51 0,9 1 19 18 340 4e | BCP | Bcuxauns 75 ?
85 10 6 2) 0,9 0,9 8C32bm+/i3 51 0,9 1 19 18 340 4e | cCP | Bcuxauns 228 g
34 25 2,1 - - - 10C3 81 0,65 1 27 30 390 de BCP BCUXAHHS 20 >
54 32 12 . - - T0C3 81 [ 0,65 1 | 27 30 390 | 4e | BCP | mouxanmis 20 %
54 21 2,3 - - - 10C3 81 0,65 1 27 30 390 4e BCP BCUXaHHS 20 8
33 11 6 - - - 10C3 58 0,7 1 20 22 280 4e BCP BCHUXAHHA 45 Eg‘
8 32 0,3 - - - 10C3 106 | 0,5 1 29 32 330 3 BCP BCHXaHHs 25 ;’
20 11 2,6 - - - 10C3 81 0,7 la| 28 32 440 3e | BCP BCUXAHHS 28 s
20 10 2.2 - - - 10C3 81 0,7 [ 1a| 28 3 440 3¢ | BCP | ponxanns 30 s
3 3 16,4 - - - T0C3 82 1065 11 23 73 330 | 3¢ | BCP | somxanns 20 £
3 18 4,6 - - - 10C3+bn 56 0,7 1 21 24 300 3e BCP BCUXAHHS 170 E
3 38 11,3 - - - 10C3 A 77 0,7 i 26 36 400 3e | BCP | Beuxauns 20 5
43 1 3 - - - NJo6 [ 07 27720 22 280 | 4e | BCP | scuxanus 80 £
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